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SW-12
June - Examination 2016
BSW Pt. Il Examination
Indian Social Problems:
Concept, Causes and Consequences
Paper - SW-12
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answer as per the given instructions.

fAder: I8 woa-ux 9 @uel ‘a1, ‘9 U1 ‘| # g g1 U
YU & FGLTTAR IR ST

Section - A 10 X2=20
(Very short answer type questions)

Note: Answer all questions as per the nature of the question
you delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.

(s - 1)
(fr o7 ITRICHD U9 )
fAder: At geal & ITR QNI NI 37 ITR BT U AR T
91eg, TP a1ag AT AfIHaT 30 geq) § uRAfIT HIvRr udw
U9 2 3feh! BT gl

SW-12/100/ 4 (1) (P.T.0)




715
1) (i) Whatis social problem?

AT T a7 8 2

(ii) Define addiction.
9 B gRYTY BT

(iii) What do you mean by non-material culture?
3rMfcren ERpTT A T AT B P

(iv) Write any two causes of juvenile delinquency.
TT—3TIRTY b Dlg S BRI ALY |

(v) Define Marriage.

feaTg 1 ufRTia IR

(vi) What do you mean by landless labour.

e St & 7 39 g ?

(vii) Write any two causes of child marriage.
g1t faarg & 3Ig §F HRUT foTRgul

(viii) Mention two types of social problems.

ARG THRIT & Q' YHRI B fARau)

(ix) What do you mean by white coller criminals?

FAtheuler JToRTeft W T 3T g ?

(x) What is the meaning of labour organization?

SHfoeh TS W AT YU 2 ?

Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. You delimit your answer in
maximum 200 words. Each question carries 10 marks.
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(Tvs - 9)
(ST STRIHD U9)

fAder: gl IR Ul & IR SRR | MY 30 ITR DI 37feIhad

200 el 9 g HIvRI| U U9 10 3T & Bl

Classified the criminals according to Sutherland.
AeRelE & IR SAURIRRT T ffenvor v |
Discuss the different types of violence.

f&ar & fafdy yaRl & =af Hifsw

Describe the concept of bonded labour.

JYAT AR P IAYRUT Pl FHAY |

Write a short note on personal problem.

fFaTd T IR Teh feuguft forRad|

Explain the impact of addiction in society.

FHAST R G &b T9TEl Dl Soold Hio|

Write a short note on Industrial labour in India.

URd H 3N S R U fewult foikay|

Describe the concept of Inequality.

ST (SRIHTAT) &Y AR 6T TR DI |

Explain the problem of gender inequality in India.

TR § foFT 39T &l FHEIT Sl gReT HIfvTu|
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Section-C 2X20=40
(Long Answer Type Questions)

Note: Answer any two questions. You delimit your answer in
maximum 500 words. Each question carries 20 marks.

(Tvs - W)
(e ITRIHD U9 )

fder : gl QI UeHl & STR ISR | 31T 31U ITR B f&HaH 500
&gl § URART HITT| Uie T 20 il @ gl
10) Write an essay on female foeticide in India.

TRA H &1 YT & R U o faRkad|

11) Describe the concept of Domestic violence.

BN T ol SAETRUN hl SREAT DI |

12) Write an essay of illiteracy in India.

TR H FReRAT R T ey R

13) Discuss the concept of crime.

JURTY Y TR I fId==T HIRR|
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